76 RTIL-REEFEERZ(AO1 B AETY)

_ (£ =FH)
ek 2 |Eh] 3% IB -
e 1 19.12 RTIL-REEFEER (A O1 B A H1=Y)
BEHE |2 16.46
EHE | 3 16.44
KB | 4 12.99
HEE |5 12.59
BEE |6 11.97
=E8 |7 11.33
MILE | 8 11.30
mEER |9 10.91
E=EEER |10 10.11 ‘
AR | 11 9.69
e |12 9.28
AIJIE | 13 9.12
EEAE |15 8.25
EHRE |16 8.24
7”é| F E'E 17 8.19 o "
EIREIE | 18 8.00 s
HEE |19 7.98 (RALHER)
EHE |2 7.84 / W5~
i B8 | 21 7.71 ' W 0~ 15
oE |22 7.63 oS O s~
=8 | 23 7.52 O ~s
PEE | 24 7.31
#mE |25 6.79 of
WHE |26 6.59
FNE |27 5.72 _ _
EisE | 28 568 | P9 & I = [BE] = B | BWE [IBL
EIWE |29 5.36
£ [E — 5.23 T - FREEREER B(ES) | MEsk 66,814 521 45
MW E |30 5.18
* 8 | 31 5.14 T IL - TREEE S
EIEE | 32 5.12 (AO1F A L1-Y) = 1215 188.1 15
HEE |33 5.11
EEER | 34 5.09 T IL - TREEE S
FTIEIR |35 476 (1 FEE% L 7-Y) = 232 220 21
=R | 36 428
WA RF | 37 4.04 T L MRS
ZRE |38 3.61 (AO17 A %7=Y) % 0.69 0.79 25
EEER |39 357
58 |40 3.32
FEBR | 41 2.90 T ILIEES(ELR) = 8,811 48 44
mEE |42 257
ZTHME |43 2.45 T ILEEHR
MR | 44 213 (AE1F A 27=Y) = 53.3 59.9 20
WA | 45 1.65
KB A | 46 1.48 RTILEEY
BEER | 47 1.29 (1M L 1=Y) = 773 76.0 17
A — i 2%
OB H 4 % : GhT LIRS+ IREEMSE) - A DB
ORERH R : (9F) FRH17E3B31H
(98 FErL164E10818
OF # B T : (0F) EEFBEl-ETERIREH)
(5 B) BHELHE BT ADHEHEH)

— 130 —





